
$%675$.

5HQL� 3XVSD� +DQGD\DQL�� ����� �� 3HPHWDDQ� /RNDVL� 5DZDQ� .HFHODNDDQ
.HUHWD$SL

'L�.RWD�3DGDQJ

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� �� ��� ORNDVL UDZDQ NHFHODNDDQ
�EODFN�VLWH� GDQ DQJND NHFHODNDDQ NHUHWDDSL�GL�.RWD�3DGDQJ�����NDUDNWHULVWLN ORNDVL
UDZDQ NHFHODNDDQ �EODFN� VLWH� NHUHWD DSL�� �� XSD\D� \DQJ� WHODK GDQ DNDQ
GLODNVDQNDQ GDODP PHQJDWDVL NHFHODNDDQ NHUHWD DSL� GL� .RWD� 3DGDQJ�� -HQLV
SHQHOLWLDQ LQL DGDODK GHVNULSWLI GHQJDQ SHQGHNDWDQ NXDQWLWDWLI� 'DODP
PHQJDQDOLVLV ORNDVL UDZDQ NHFHODNDDQ NHUHWD DSL�� SHQHOLWL PHQJJXQDNDQ�� ���
PHWRGH HTXLYDOHQW� DFFLGHQW� QXPEHU�� �� PHWRGH XSSHU� FRQWURO� OLPLW� +DVLO GDUL
SHQHOLWLDQ LQL \DLWX�� ��� ORNDVL UDZDQ NHFHODNDDQ �EODFN� VLWH� NHUHWD DSL
WHULGHQWLILNDVL SDGD SHUOLQWDVDQ��D��VLPSDQJ $QDN�$LU��.HOXUDKDQ /XEXN %XD\D��E��
VLPSDQJ 6HNRODK 0HQHQJDK $WDV� ��� -DODQ %XQJR 7DQMXDQJ�� F�� NLORPHWHU� ����
DQWDUD�6WDVLXQ�7DELQJ�GHQJDQ�6WDVLXQ 'XNX�����VHFDUD XPXP NDUDNWHULVLWLN ORNDVL
UDZDQ NHFHODNDDQ NHUHWD DSL DGDODK NXUDQJQ\D SDODQJ SLQWX SHUOLQWDVDQ NHUHWD DSL��
NXUDQJQ\D UDPEX�UDPEX ODOX OLQWDV NHUHWD DSL VHUWD JD\D KLGXS PDQXVLD�����XSD\D
WHODK GLODNVDQDNDQ GDODP PHQJDWDVL UDZDQ NHFHODNDDQ NHUHWD DSL DGDODK PHQXWXS
SLQWX SHUOLQWDVDQ� OLDU� NHUHWD DSL GDQ� \DQJ� DNDQ GLODNVDQDNDQ \DLWX VHWLDS
SHUOLQWDVDQ NHUHWD DSL VHELGDQJ OLDU� DNDQ�GLWXWXS ODOX GLEHULNDQ SHQJDOLKDQ MDODQ
NROHNWRU��
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